L’ Arrondissement (C)

57439

55965

71393

712210

224 469

4596 141

7898 636

5137317

Arrondissez chaque nombre ci-dessous a la dizaine de mille pres.

58517

31999

74 963

627974

957978

3384245

5944218

7892 388

26200

78725

611881

438 546

322265

2428 307

8933709

57 654 937

87828

29901

950470

891518

274 149

6970355

2662527

43390753
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L’ Arrondissement (C) Solutions

57439
60 000

55965
60 000

71393
70 000

712210
710000

224 469
220000

4596 141
4 600 000

7898 636
7900 000

5137317
5140000

Arrondissez chaque nombre ci-dessous a la dizaine de mille pres.

58517 26200 87 828

60 000 30000 90 000
31999 78725 29901
30000 80000 30000

74 963 611881 950470
70 000 610000 950 000
627974 438 546 891518
630 000 440 000 890 000
957978 322265 274149
960 000 320000 270 000
3384245 2428307 6970355
3380000 2430000 6 970 000
5944218 8933709 2662527
5940 000 8930000 2 660 000
7892 388 57 654 937 43390753
7890 000 57 650 000 43390 000
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